——
N = 0 A Ab 3 Al
20218 &= 20l AF LBHSH & Al
28 HE
B HY0 OHFN B
Sl NN Y2ET SREED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
(RSl 1,086,218 1,181,388 N 95,170
= 94,352
= 991,866
TN OHAEA B 1,036,343 1,106,394 A 70,051
= 94,352
= 941,991
NEHE 28 259,760 245,259 14,501
SNl 2 181,376 157,740 23,636
201 et 19,350 21,000 A 1,650
01 AP 2t 2] H| 10,350 13,000 A2,650
ORX M IR (AL M) 3,400,000& 3,400
ODXNAN FU(FSH,=S=HBAM)
70,000& = 85BFA 5,950
ONYM 5 E22 ME(B22 S)
50,000& * 100 = 23] 1,000
02 E2=22%H| 9,000 8,000 1,000
ODXAN 2H @248t S7]) 9,000,000& 9,000
308 XAHXISHH SO0l & 53,763 52,434 1,329
11 B 2SHUSEANRE AIS Y 53,763 52,434 1,329
OXYAH 323 23 29| 52,229
“SEEXNSNAEBANAE 2H 28,280,000& 28,280
QA (SEXNYHNESALY) 29
22,801,000 22,801
-AXE & HYdEE s AAd 29
1,148,000 1,148
OXNO XISHEZAAE 2AH|
1,534,000 1,534
403 XX SHHS K20 & 108,263 84,306 23,957
02 BI2SHUESXA=2EAEAIS Y 108,263 84,306 23,957
OXHO XEHESAAE A= AISH|
108,263,000 108,263
dNE 29 78,384 87,519 N9,135
201 Bt 32,000 34,520 N2,520
01 AP 22| H| 11,500 14,500 A 3,000
OXZEAH HNEGR AA Kol 1,000, 000& 1,000
OOISHRAF Y 302 222 H&
1,500,000 1,500
OXZEH 22X HE 3,500& * 2,000% 7,000
OXSHEZEE 20ad ZAlH| 2,000,000& 2,000
02 2=2=24%4| 20,500 20,020 480
ONYEE ARSASOHLE AIAE S X224
1,233,333 * 12& 14,800
OXs=8)|l X244 400,000& = 12&€ 4,800
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SHHED
E: DAY OHFE o

ol UMM 2oER CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O0ol5It SEHAAMN INSESHSAZ
30& * 30,0004 900
202 (4] 14,576 18,680 N4 ,104
01 2L Y] 14,576 18,680 N4, 104
OMEER =& ol 13,680,000& * 70% 9,576
OXNLM YAt NLME 28 =04l
5,000,000& 5,000
203 Y R =&Y| 1,500 1,500 0
03 Al =X AR F=XY| 1,500 1,500 0
OXNYHMESLR AlIHZ=ZAH| 1,500,000& 1,500
301 dBtEX = 15,000 15,000 0
12 JEtE &2 15,000 15,000 0
O8aGMI dSX=2 30,000& * 200H 6,000
ORYHIMAE & MZ  350,0008 * 2004 & 7,000
OdAa S MA /S ME 100,000& = 20Y¥ 2,000
303 A2 2,000 2,000 0
01 ZAZ 2,000 2,000 0]
OXNLMEAZS 222 A4 1,000
-x 2= 500,000& * 1H 500
-2 = 300,000& * 1H 300
& 4 100,000& * 29 200
OXNLMAE SSHEHI 24SH Ala 1,000
-% 2= 500,000& + 1™ 500
-2 = 300,000& * 18X 300
-& 200,000& * 189 200
306 EH = 13,308 15,819 N2,511
01 &%= 13,308 15,819 AN2,511
Ost=2XNgAARR EHZ
102,367,044,000& * 0.013% 13,308
Z M2 101,480 73,790 27,690
THNEI SR 101,480 73,790 27,690
201 et A | 93,580 63,790 29,790
01 AFR2t2l Yl 23,580 20,790 2,790
ODXNMN 2 9,800
-SSE0XNAM(HINZ2) 7L
70,000 * 1202+ A 8,400
ST (SAE) 7Y
70,000& * 202r A 1,400
Os=tga St E M & 50,000& * 128t A 600
OSHE 258 (8)25 29
50& * 5,0000 * 148+ 3,500
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M N

HE: PN AFE 3
&S 2N CEE-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXNSXA, =2AHM 22 MZ 3,000,000 3,000
ORSXH, FOUN L2 E2(H42, U2T)
80,000& = 1201 = 53| 4,800
OXZA HSFEAL MHEZAM HIZ
4,000& = 200 800
ONEXZA 3 & NSXHA, F2M 28 S
2= 4l 8,000& = 3¥ » 158 » 33 1,080
02 22224l 70,000 43,000 27,000
OLNXNAN 2B 22(E,SI1) 68,000,000& 68,000
O2XNHMX =52 (H2,2=2) 2,000,000& 2,000
202 odl 4,900 7,000 A2,100
01 = LH o4 1l 4,900 7,000 22,100
OXgA 2UHL =0
7,000,000& = 70% 4,900
301 LEEXS 1,000 1,500 A 500
12 JIEtE4 3 1,000 1,500 A 500
OE2ME g M3 L Aln(eitorn)
20,000,000& * 5% 1,000
303 Z& 3 2,000 1,500 500
01 Z4& 3 2,000 1,500 500
OEF24H NELg= Za3
40,000,000& * 5% 2,000
FEIOLE BAIS THALAL 21t 298,660 300,083 AN 1,423
= 94,352
= 204,308
THAEA S 1t 84,004 84,536 A 532
201 LB-2d| 76,276 73,496 2,780
01 At 22l 11,776 12,496 AT20
OsSEgE0XNAN 2 70,0003 » 100 A 7,000
OMAA CHEEH 2t E224H|
8,000& = 3H x 14g » 53 1,680
OM&AN 22 HME 4403 * 3,400% 1,496
OMUA He 22 (B4 5)
0,000& = 1008 = 23l 1,600
02 3323l 64,500 61,000 3,500
OFJIIg UXAM 2B 23 (e, S71)
64,500,000 64,500
202 Odl 7,728 11,040 A3,312
01 =LH YI 7,728 11,040 A 3,312
OWEHR FAAHHI 11,040,000& * 70% 7,728
N =01 S Al 20,730 21,510 AT780
201 LB-2E | 20,730 21,510 AT780
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M N

B HY0 OHFN B
SRl FEHIMA SAIQ HAA 2t (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 6,910 7,310 A 400
OMNEFEItA H==EH| 1,830
-E2HY3 270,000& = 404 1,080
-=WEX 50,000& * 15&8tA 750
OFeII2 gars X 40,0008 * 122 480
ONFIH g B2 (B4 S)
80,000& = 100# = 23l 1,600
OZFEXNE RS2 M= 150& = 20,0008 3,000
02 2324l 13,820 14,200 A 380
OCZ2ESNE RER= 380& = 19,0004 7,220
OogsgaZzdH RAES 5,500,000& 5,500
O3 IAAAE LAZH(IHIENHE)
X2l 1,100,000 * 13l 1,100
HE=&ItA ZA(ERX) 193,926 194,037 A1
= 94,352
s 99,574
101 @124 dl 77,986 76,897 1,089
= 32,812
i 45,174
04 JI12ZtHNZ22 s 77,986 76,897 1,089
ONEFEIIA SEIMSH AFY 61,259
-= 73,0003 * 498 » 189¢ 55,188
= 23,220
fia 31,968
-AFBIEE DR E 3 55,188,000& * 11% 6,071
= 2,554
[ia 3,517
OMNgEF=EDIA REX RY 16,727
-2 0 69,7603 * 198 » 216 15,069
= 6,340
= 8,729
-ALRIEE JI2RES 15,068, 160& * 11% 1,658
= 698
s 960
201 £B-2%| 112,400 113,600 A 1,200
= 58,000
s 54,400
01 At 2t 2/l 112,400 113,600 A1,200
ONEFEIA HE =8
6,400& = 17,000= 108,800
= 54,400
s 54,400
ONgxege a3y
8,000& = 3% = 30& * 53| 3,600
= 3,600
202 O4dl 3,540 3,540 0
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2AH: MAE
BH: 2N Yo AN =8
SR IR SAI AN £t (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 3,540
01 = LH o4 1l 3,540 3,540 0
OMg =8 F=&NHI 3,540,000 3,540
= 3,540
YA E2te] 175,025 247,308 AT2,283
e 2el 175,025 247,308 AT2,283
101 1A dl 16,727 18,308 A 1,581
4 D12t ZE2XREES 16,727 18,308 A 1,581
OMgHE=+ T/FE =2 16,727
-= 69,7603 * 198 » 216 15,069
-ALREE JI2RES 15,068, 160& * 11% 1,658
201 L2l 136,318 137,600 AN 1,282
01 At 22/l 51,540 59,830 A 8,290
OXNEA HMEDXM el 6,300
-—S8E0XA 70,0003 » 702 A 4,900
-2&IX A 70,0002 = 208f A 1,400
OMgeteE Mal el 100& = 40,0004 4,000
OXNgxe gxlgs 423 F4l 500,000 500
OMYExeE &d 44l 1,000, 000& 1,000
OZ2Mxd= 2 ME™MEH 250,000  20A 5,000
O2832 M8 =2 3,000& = 500A 1,500
O&FtLE AMHIA 0= 2,450,000& 2,450
OXEEHE MHIA 018 241,666& « 12& 2,900
OAAHE HAAAMHIA OlEZ 8,250,000& 8,250
OHMY ddold =4 1,100,000& = 23| 2,200
Ol A #+=2 10,0008 ~ 12& 120
O&x=UH#HE N3 IR
11,000& = 30& 23] 660
OXMgH My &L
50,000& = 1004 = 33l 1,500
OXZgAl ItE0E 2N =2
80& = 10,000A 800
OJIMHH Ol8 =2 80& = 130,000 10,400
OMgd=8s E2=4HI
8,000& = 159 * 11 = 33 3,960
02 3323l 84,778 77,770 7,008
OSEE 2 MEUz B3 (SI],28H)
52,900,000& 52,900
OXSEIX ADE 2L I|D| Saldl
48,0003 * 400 = 128 2,304
OXEgAM &5 2XAEAMEIA 018 S4ld]
12,0008 » 1228 144
OHsEIX 23 RALE 13,800
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2AM: N
B HY0 OHFN B
SHol KAl Bl (e
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
-253 2Y 180,000& » 12& 2,160
-SUE EXAILAH 600,000& = 123 7,200
-XEE SH4AAE 370,000& » 12& 4,440
ONAAHE =HAIAE 2R E 24|
2,015,000& * 42| 8,060
ONYSE Rel=EIl RAE=H 7,570
NI 558,000& » 4= 0| 2,232
-=&3 443,500& * 42| 1,774
-Had 237,520& = 5& 1,188
-adH 237,520& = 5& 1,188
-Z=d 237,520& = 5& 1,188
202 O4dl 7,980 11,400 A 3,420
01 =LHA YI 7,980 11,400 AN 3,420
OXNgNE= JRFE 04l
11,400,000& * 70% 7,980
303 L&t 3 14,000 14,000 0
01 243 14,000 14,000 0
OXNgNEs Z&S 14,000
—AEEE 500,000,000& * 1% 5,000
-HEE 300,000,000& * 3% 9,000
NYASHE 0 60,306 96,078 N35,772
NYASAH B0 2R 60,306 96,078 N35,772
101 1A Hl 14,172 18,308 A 4,136
04 JIZHHZ2XREE S 14,172 18,308 N4,136
OUINHEH SHHERD & =JI2 HaASA 2
£ 14,172
=0 69,760& * 3% * 61 12,767
-ALRIEE DRSS 12,766,080& * 11% 1,405
201 L2 | 39,750 62,450 ~22,700
01 At 22l 13,390 22,690 A 9,300
OXNLALSAH S 2& ML F
80,000& = 13& 1,040
OLXAM P (&) 70,0003 » 259+ A 1,750
OXEASEM UDLER EE(E+Y )
50,000& = 120 = 23] 1,200
OXNYgALSM ADIHERE S22 HH
5,000,000& 5,000
OMUAXNLASAH 2EHSAUIEEN HE
200& = 22,000A 4,400
02 =224l 26,360 39,760 A 13,400
OLDXAN RERI(LE,SII) 12,000, 000& 12,000
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SHHED
HE: PN OHFH

o =

H

2 XNYALSHE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONAUXLASH LFUHSUILYRN RERS
380& = 22,000A 8,360
O=ME dEY S| 6,000,000& 6,000
202 044l 6,384 9,120 A2,736
01 SLHOYI 6,384 9,120 A2,736
OXNEASAH 2P =N
9,120,000& » 70% 6,384
AgMel+ 29 141,112 143,876 N2,764
M2l 22| 141,112 143,876 N2,764
201 24l 35,940 43,595 AT,655
01 At 2t 2l 23,940 13,600 10,340
OM2=g DA 2 70,0002 » 60 A 4,200
OAMeI=g tE0lE 2N =2 300,000& 300
OM == JtaHZ Ol8x+2
80& = 18,750 1,500
OMN2=g CMS UHS0IM &30 ===
80,000& = 12& 960
OMe=+= MEgds28s S22l
8,000& = 3H » 15& * 33 1,080
O3MHE ==2 250,000& = 10A 2,500
O=8382 M3 ==2 2,000& » 250A 500
OFRsSd &% & ol ===
1,000& * 500 500
OXEZE CIHYW XS MHIA OlEZ
2,900,000 2,900
O&XUHS &7 AIAE A HHIA AAE=
9,500,000 9,500
02 =224l 12,000 29,995 A 17,995
ONeI=2 DXAH & oHE 28 2523(2
g, E71) 12,000, 000& 12,000
202 O4dl 4,900 7,000 A 2,100
01 = LH 4 Hi 4,900 7,000 22,100
OMel+g F4 ALEX off)
7,000,000& = 70% 4,900
303 &3 5,000 5,000 0
01 Z2&= 5,000 5,000 0
OMe+= = R=2AN Al 1,000
-z 500,000& * 12 A 500
-2 $ 300,000& » 12 M 300
-5 A 200,000 » 12 A 200
OMe+=2d+ Z&3 4,000
“ANMEE 100,000,000 * 1% 1,000
-EE 100,000,000& * 3% 3,000
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MIE

&g

pS|
= =
o
29

ZHYO o
I

X &Ml 2l 2= (e &)
SAH-EB .S (3H) - HEAY - BE2 il HDS2
308 AXISHXMSO0IH 25,759 23,574 2,185
11 SISO USE AN E A 25,759 23,574 2,185
ON+=Ldd B AIAE S22l
25,759,000& 25,759
403 IR SHHSA201 A 69,513 64,707 4,806
02 3I2SH St 2 2 AL B 69,513 64,707 4,806
OXAMU EZEXNLAMAT-LEBAIAE 2FAS
ul| 69,513,000& 69,513
HESAAY (MED) 49,875 74,994 N25,119
Jl2ZH (ME ) 49,875 74,994 A25,119
Jl2&l 49,875 74,994 A25,119
201 YEt2 | 43,395 47,794 A 4,399
01 AFR2t2l bl 39,928 42,842 N2,914
Ogt2H| 7,524,000 7,524
OZ2 &l 6,760,000 6,760
O= A Xtz 400,000 *~ 1CH = 12& 4,800
O8I dxz 51,000& ~ 104 » 12& 612
O#AAH A2F FH| 20,232
-ZdZey 7,920
EY
440,000 * 2CH * 48 * 23] * 90% 6,336
- Ed 440,000€ * 2CH = 23] * 90% 1,584
-2BtITely 200,000& * 150H * 23 * 90% 5,400
-FAX 120,000 = 1CH * 33 * 90% 324
-s&7J| 500,000& * 1CH = 123 * 90% 5,400
s d@3 M1
330,000& = 1CH * 43 * 90% 1,188
02 3524l 3,467 4,952 A 1,485
O#HHYEH FAEEHl 3,467
~CI1s AR 10|
1,300,000 = 320H * 5% * 70% 1,456
-Tglf 4,000,000 * 1700 * 2% * 70% 952
-FAX 600,000 = 1CH * 2% * 70% 9
-As &3 M9 1,500,000& = 1CH = 70% 1,050
202 04| 1,680 2,400 NT20
1 = LH 4 B 1,680 2,400 AT20
OMEL =X oYl 2,400,000& * 70% 1,680
203 ¥R =&H| 4,800 4,800 0
04 EANSHLRF=XH| 4,800 4,800 0
ORANSIELERF=AY| 400,000 * 12& 4,800
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